5.5 7

(T [ =3

1/53



1]

<

I ERER



3/53



limly

5 MR
= P ) SRR R L LR S, B
Ve Saa A, Boa B AR R R .

MEST: FUEAR PSR TH A L IS )

W

4/53



RV

RN ﬂ%ﬁ%*ﬂﬁ"]/ﬁf)‘(

1. MeEa5 b HIJEMA

G A LS as b, 3 O SfEOA=a, OB=D),

N 0= L AOBO<0<m){{M & a 5 b HJIA.

5/53



s azgw, a5 b EE, iCHE a lb:

%QZOHTJ" a—"ﬁblﬁllﬁ‘l;
M O=ntt, a5 b .

MAEE R E a 5 b AMAHITOH:

o) & 5T R ) 3R .

0< <a; b> gn.

6/53



2. AR B R E S R

7/53



CVAPE T ) o A% 2, b E S 0, EOA=a,

A [ AR, TN A, MOAFKE a 750 1 1%
5. IR 1 EARARPRE a 75D 1O7 1) R EGE,
1e4E a,

Sea=|alcosO 9 S a S5 1 IER TR A)
4 0 NPEAI, a<0; 5 0 NEMW, a=0; 5 0 N
FIlE, ap0, 24 0=0°0F, a,=|al.24 0=180°KF, a,——|a.

8/53



3. MEa5 b HEEH

OB AN EZ IS o b, BRI A 0, TATHE
¥ |allblcosO miflg a 5 b FIFEFREHNER), 1E1E ab,
JRE 2 I S5 — MmN o.

4. ~F1in ) EHE AR L S X

BER ab FT a WKE a5 b 7E a J7 0 LRI
1b|cosO FIIEER.

9/53



.\ FaFEEHRERIMER

1. albeab=0.

2. Ma5b MK, ab=|alb;
Halyb AN, ab=_"lalb] ;
R, a-a=|a]? |a|=/a-a.

3. |a-b|<|a|‘|b|.

10/53



=\ AEFERNEERE

1. X ab=b-a.

2. BoRLESH: (a)b=AMab)=a-(b).
3. 7lcHE: (at+b)c=a-ctb-c.

11/53



0, FEESHEIRNLIRRT
1. %a:(xl’ yl)’ b:(X2’ yz)’ a—%‘ b B@%%yg 0, I)_UJ

ab Xy
al14b] -~ x}Fyi Gy

ab= X122 Tp: , cosO@=

2. Ba=(x> y), Wja="% TV

12/53



3. #HME a B FARBS A ARER 73 3 N (s y1)»

(X325 )2)> )rllJ|a|:\/(x1 —xz)z—l—(yl _.Vz)z’
4. B a=(xp y1)» b=(x3, y,)» H a. b HEAEER]

5, Walbab=0& X1x2+y1yz:0 .

13/53



1. 47 ab=0, a70 H—%EA b=0, HANZ a Lb W,
BA ab=0.

2. XTS5 a. by ¢, ¥ DFAOW), 5 ab=bc, N a
=cfHXf T InE a5 b, ¢, HbA0N, H ab=b-c HIEA
U a=c.INH ab=bc 15 b(a—c)=0, RE¥ a—c 5 b
SN

Cr-

14/53



3. FEMAW AL A, WX FE a. b, ¢, (ab)c
=a«(b-c) AN, IXFERIN ab 5 bc B 523 . (a-b)-c
5 e 2, a(bo)5 a 35, e a FHIRVBHILE.

15/53



0 F’ S

4. #i<a, b>=0, W) a 7£ b 770 L1552 N|al|-cosO,
b 1t a 7714 LIRS 52 N)b|-cosO, RBijEEiIX 4y

0S

OS]

JOF{E0S T [ L1814y 71OF =|5}7|c0s9° eh

OSTEE IR, RERFHZIO F |cosd M.

16/53



5. ab>0 M a5 b FANBEANEFN. "1 b=a#0
I, RMANO0, ab>0; FIFE ab<0 NEWT a 5 b KK

17/53



II._.‘ n_.\ 7'3_ !2_'3:. j:ﬁ 1-5

18/53



N
N

1. AT 53 B ) R F A P IR &
H.

2. R EAE, FERHAN|0=d*, KETEHE
FEAL N ) = R BCEAR IR Ia L

3. FFH i) 3 B P AT R 2 A A 3 T B eR B SR
SR AH 1) 8 FH I 7.

el
dT
L |
g==4!

19/53



B 151] 13

20/53



(5] 1] &£ RtAABC ', ~£C=90°, AB=13, AC=

12, RAB-BC.
SHr: KEEME, RICHEARNS, K87 RER -
FHIEA.

21/53



2

B >C
T ZC=90°, AB=13, AC=12,

S

..BC:59 -.COSZABC—B.

* (AB, BC) =n— /ABC,

22/53



> 5
c.cos {AB, BC) Z—COSLABCZ—E,

. AB-BC=|AB||BC|-cos (AB, BC)

5
:13><5><(—B): —25.

23/53



ARVE: R B B KA R SR AR B 5 i T
%, FIEE AR T RS

24/53



il %)

COQRO L MG —BOEFEE A = AE ABC ',
D 24430 BC b A, Wi AB KA 2, W(AB+AC)-AD
AR

fRtr: A 4, AD—ZBC—Z\F \/2,

(AB-+AC)AD=24D-AD=2|AD|'=4,

ax: 4

25/53



ENVEZE ABCD W1, 75 AC=2, WICA-AB%T( )
A. 2 B. —2
C. 23—2 D. 5&EHAKA X

f@Hi: AB+CA=CB, L 2WiKH a, HABE+

2AB-CA+|CA?=|CB|* % &*+24B-CA+4=d".

S ABCA=—2.

v 22—
=5=%: B

26/53



P ERFCCAASOE KR TS, ATRERREN —LAE. METHRIAREL, 1§
Ji: https://d.book118.com/848013030137006060



https://d.book118.com/848013030137006060

